MCV4U

Pretend Quiz - Derivatives

1. Find each derivative. Express your answer in simplified, factored
form with only positive exponents.

a) y=3¥x*
x* +3
b) ¥ = %% 1
c) y=(><2—1)4(2x+1)3
1+x
d) Yw\,1+x2

. iy_ . _ 2_ 3 4 _ X
2. Find dx!":z if y=u®-u’+2u andu-——zx_l.

3. Find the points on the curve y = > ! 7 where the tangent line is

perpendicular to the line x -2y =1.

4. For the function f(x)=ax* + bx® — 4x? + 2cx + 14, determine the
values of a and b so that f(-2)=2, f(-2)=16, f'(-2)=-8.
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Answers to Pretend Quiz
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4. f(x)=ax* +bx® - 4x? + 2cx + 14
f'(x) = 4ax® +3bx? - 8x + 2¢
' (x) = 12ax? + 6bx - 8

f(-2)=2
(-2)% +b(-2) - 4(-2)? +2¢(-2)+14 =2
16a-8b-16-4c+14 =2

lba—-8b—-4c =4
4a-2b-c=1
f(-2)=16

4a(-2)* +3b(-2)* -8(-2)+2c =16
-32a+12b+16+2c =16
-32a+12b+2c=0
l6a-6b-c=0

f'(-2)=-8

12a(-2)* + 6b(-2)-8 = -8

48a-12b-8=-8
48a-12b=0

12b = 48a

b=4a

4a-2b-c=1

4a-2(4a)-c=1

-4a-c=1
=-4a-1

-1l6a-6b-c=0
-16a-6(4a)+(-4a-1)=0
-16a+24a-4a-1=0
4a=1
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